STXR
M-/ N—S

Sfma—k K49487

il TSB0930
Haftaii TSB0930-03

I\.
—

« BERIENORE. BY IR EIEREZE,
- fiASBRO—EBICIE., e -IYMETOADERAHIET,

HINEtIHIA Y —






&

EEOTEXIZDNT

HEBROMIGERIZDLNT

1. R ZEDCORNE, TRUEE £ TER < LS,

OF FEES
@ et 0
@ HERAFF
@ HE
©fE %

¥ HRMAEITHIERER LU, KK REFOR—
LT L= MIFRULTLET,

2. o [~ | it UFozraglcl
DET,
(=] - vadrd AATN O DI
B 2 2 L 0 B B

s T A R RN B T,
TS L7V

T DR OMERPSOUEER IR X 85&D
IV OETT, /L, BHGFIRN TH-Th, R
SR DT &% TR S QO < SBE8H D
1,

S RO IRRRN I Do ER R T U E
I, HHAEIREEE Th - T, a0 B D
TSRS L UMV T TR SO Ve X
7,




TSB0930

BRI O—ILR—S

IL—La-34Y

065-00481001

RUHEH B o & & I R i &l
1 | BZ20100 AVE 8. 8 M20X100 2
2 | BZ20110 ALk 8.8 M20X110 2
3 NN20 FTAarFy s M20 4
4 | 1397870004 FL—k 2
5 | 0003790000 A% ;10,/80—12—B8PR 2
6 | 0003860000 Fa—7:10,/80—12 2
7 | 0008540000 A= 7. 00X12 2
8 | 0009741000 NT B 2X80 2
9 | J30208 Fe=mNR =57 Y7 30208 2
10 | J30206 Fe=X@—F X7 Y7 30206 2
11 | 0009750000 =T e s 40X80 2
12| 000712000 FrvANLty b ;M24X1., 5 2
13 | PCO40032 TJUEY 4X32 2
14 | 0009680000 Frv/ 62 2
15 | BXI16150050 | A/vh 10. 9 By M16X1. 50X50 10
16 | 000976000M Tg—=NFy b ; M1I6B6X1., 5 10
17 | 1458451004 Ty 7 L—ACP 1
18 | 1458461004 K CP 1
19 | WSA16 NEPH X 37 M1 6 10
20 | ONBS1 JV—RA=w7N B PT1,/8 2




TSB0930

MR O—)LA—S

Ko/

[ 13895-2 | 1 F

055-0048-1002

AR B & F & B M A B Bk 1 &
1 | BZ16045 ALk 8.8 M16X45 4
2 | WSAl6 ANRPHR 32y M16 4
3 | NZ16 Fvh 8 2¥= M16 4
4 | BZ12035 AVhK 8.8 M12X35 8
5 | 065482200 Ty 12 8
6 | WSAI2 NEYFIH xR 3Ay M1 2 8
7 | NZ12 Fvh 8 2%= M12 8
8 | BSZ10035 AR 7 M10X35 16
9 | WSAL0 NRYHR 327 M10 16
10 | NSZ10 afEZryh 8 2v= M10 16
11 | 1390740004 Fy hMr—ACP 1
12 | 1390790000 dhm—F 1
13 | BSZ10025 aFERNLE T M10X25 4
14 | WSA10 ARYPHx 347 M10O 4
15 | NSZ10 afErby b 8 2= M10O 4
16 | 1130780004 75% > RCP 1
17 | BZ12035 ALk 8.8 M12X35 4
18 | WSA12 NRWFHx 34y M1 2 4
19 | 1328960004 2B RCP 1
20 | 044615100M AL Ru—-D 1
21 | 000739000M JrFEy; 9 1
22 | 068168100M A/ A 1
23 | 1390800004 | /%A FCP 2
24 | BSZ10030 af ARV 7T M10X30 8
25 | WSAL0 NEYPHx 347 M10 8
26 | NSZ10 affEZFyh 8 2¥= M10 8
27 | 1461960004 Fa—ACP 1
28 | 1461900004 AL RF AR 2T L~ ACP 1

— 0 -




TSB0930

R A O— L AR—S

IR A

RUER B & & B HoOOM & B [T fH %
1 | 1461670004 T AL 1
2 | 1466130002 VT bk Vad Lk 1
3 | 146614000M HF—; 35, 2X53 1
4 | J6207 R 7Y 7 6207 1
5 | D407210 FANY— DAOXT2X10 1
6 | 1351511004 YaA b 1
7 | J30207 Fe=Na—=F X7 Y7 30207 1
10| 0779320000 ARYLE =G 15T 1
11 | 078908400M A Ay 7 Fy b ; M30OX1., 5 1
12 | 1466120004 FYRy 7 A% xS 1
13 | 087166000 A= 35, TX25 1
14 | 1301820004 AALFYRY T A 1
15 | BSZ10025 affERLE 7T M10X25 4
16 | WSAL0 NRRYPHR 327 M1O 4
17 | 0445851000 Fgblih: 35X0. 1 -
18 | 0445862000 FgkEAL b 35X0. 2 -
19 | 0000290000 Forrmtry (L7 XEFVF) 1
20 | 0003280000 APV 1
21 | 000338000M M10O07F5 5 1
22 | 0003390000 NRyFr M107FF57a10) 1
23 | 0779311000 AALEY 0 23T 1
24 | J6207 R—N_XFTY 7 6207 2
25 | D406210 FANY = DA0OX62X10 2

- 3 —




TSB0S30 A O—A—S GEY AL
RS & & & 5 ;s & B B 1 %
26 | J6208LLU A7 Y7 6208LLU 2
27 | DHCO8O CHERNAD 75 80 2
28 | BSZ10030 aFEFRNE T MIO0OX30 6
29 | WSAL0 NRYFEHX 3Ty M10 6
30 | BZ12170 ALE 8.8 M12X170 3
31 | WSAl12 NEYPHFX 327 M1 2 3
32 | NZ12 Fvh 8 2va M12 3
33 | 1351490000 Yy T7 k1 1
34 | 1351500000 V¥ b2 1
35 | 1351511000 P AVAN 1
36 | 1351520004 Ry 7 AT L—ALCP 2
37 | 1306520004 A 1
38 | 130653000M NT7—;40X59 1
39 | BZ12040 AL 8.8 M12xX40 6
40 | WSA12 NREPEHEX 347 M1 2 6
41 | NZ12 FTvh 8 2¥2 M12 6
42 | BZ12045 AR 8.8 M12x45 6
43 | WSA12 NRPHEX 327 M12 6
44 | NZ12 Fvh 8 2¥= M12 6
45 | BZ14040 ALKl 8.8 M14X40 4
46 | WSA14 ANRYPHF 34T M1 4 4
47 | NZ14 Fv bk 8 2¥x MI14 4
48 | 065487000M Ahi35X1. 2 -
49 | 8028390004 755y NCP 1
50 | J6007LLU R A_FTY 7 6007LLU 2
51 | DHCO62 CHERRAY T7F 62 2
52 | BSZ10025 a2FARLE 7 M10X25 4
53 | WSA10 ApPHR 32 M10 4
54 | NSZ10 aBfFZFyh 8 2= M10 4
55 | 0008240000 PICHA—; 2 1
56 | JWLA110ASY NRI—PaAfrp WLA—110 1
57 | 0000963000 PICH»v/,; 35 1
58 | 1461700004 ATy b, 40—40T 1
59 | TRK08020 6 hARY 10. 9 7RI M8X20 1
60 | NSZ08 aBfifFyh 8 2va M8 1
61 | KFD10080220 | ~Af 2w d— UagbkT 10X8X22 1
62 | 077047000M A~—HP . 35X2., 3 (E59030) 1
63 | 146171000M | /314 1
64 | 0896380000 A 35, X0, 2 ~




TSB0930 R O—)LR—S SR 0—S5
2O<g 75 74
i Sl
17}\357 4,057 76 nf\ \
13—@{ 0/ i & T 1° 7 S\ N
12 g@ 0/ 22 o @/C/./ 73 68 o7 .
H & @ | M 3 02 72
2 mhy ao §%
T e 7 B [T\ g6 O 24 KL
; 3/@4 & A " /@ 62
@ Al 7 g 7" o B W 7% - / 74 13 67 & @ 63
Zj@’ 7829%5@ 77f P e ®/
DTGy » B 1
AR :% * ~6 @)@ ”
[c] 61 53
A& /ﬂu\ 20 48 é1 {gi/g
] 47 45 5 66
J\ < QO N\ > ~D ° g{é\f 41 i 43, Q{ o 24
R0 We XN\ §6o . Q%@/O/M 6864 @{// °
0 gy 8o o 72/@ o g/@ 72 63
Ad—C o §§ & Fo; 51<§ 61, 61 2727; 61
[\ S ° 52 A
|4 R0 e, S,
GeBa0i- 004 = 58 g@g %/28 ‘P %@’/@5 "
E B F B J OB W o
REES B W B E N - e il =z
1 | 1352410004 ASalrybh;, 80—10T 1
2 | 1018790000 T a 2
3 | 1352420004 LR RV AC P 1
4 | 0440284000 RN M1IOX55S 5 |4 Pl
5 | WSA10 ARPH A 347 M10 5 |44 T
6 | NSZ10 aBffZFyh 8 2ia M10O 5 |4 »Fl
7 | 0988800000 VA 35, 5X0. 6 -
8 | DCO35 CHHERNADT V7 35 1
9 | ONAG TY=2=v )L A M6 1
10| 1304590004 A7y h; 80—30T 2
11 | 1018860004 A7urry b CP;80X12T 3
12 | 135244000M Ty RCP ;410 1
13 | 135246000 | 7oL a7 —ALCP 1
14 | ONB6 TY—Azw IV B M6 1
15 | 060807100M Ty 1
16 | PCO50036 Uy 5X36 1
17 | 0252660004 X7 A WH R 1
18 | 099710000 B G- 2
19 | 0473370006 AV T A 1
20 | NZ12 Fv b 8 2¥2 M12 2
21 | DCO35 CHZ AY TZ7 35 1
22 | DCO30 CHHERNAD V7 30 3
23 | LAS80115 5 F m— 1
24 | 1302730004 ATy h; 60—23T 14
25 | 1302740004 ATy b 60-17T 2




TSB0930 A O— L A—S HETY O~
RUES & 0 & & W dwm A W {2 i &l
26 | J60OTLLU R 7YY 68007LLU 4
27 | DHCO62 CHENAD T 62 2
28 | DCO35 Cliz AU V7 35 2
29 | 130540000M FriaryF—-ALCP ;6 0B 1
30 | 044214301M Ty ¥ 25, 5X1. 0 4
31 | DC025 CHE R NAD V7 25 1
32 | ONB6 TY—Rz=w ) B M6 1
33 | 0986740004 A7y b CP;RS60X13T 1
34 | 060807100M Ty 1
35 | 044214301M Tyv¥ 25, 5X1. 0 1
36 | DCO25 CHENAD VU 25 1
37 | 130545000M Yy RCP; S 1
38 | 099710000M T 3
39 | 0473370006 ATV T A 1
40 | NZ12 Fvhk 8 2= M12 2
41 | 130447000 | T v 7T—ALCP 6 0A 1
42 | 044214301M Tyv¥ 25, 5X1. 0 1
43 | 060807100M T % 1
44 | DCO25 CHENAD VU 25 1
45 | ONB6 TY—=R=w v B M6 1
46 | 044214301M Ty % 25, 5X1. 0 2
47 | 0986740004 A7y CP;RS60X13T 1
48 | 060807100M Tyiry 1
49 | 135247000M iy RCP ;265 1
50 | DC025 CHENAD 27 25 1
51 | 099710000M BT 3
52 | 0473370006 ATV T A 1
53 | NZ12 Ty 8 2v= M12 2
54 | 0896380000 VA 35, 5XO0. 2 -
55 | LA60163 m—Fz—r B60X163L 1
56 | LA60180 =T Fe—r B0X180L 1
57 | 0554000000 N -
58 | 0704200000 N -
59 | 1302590004 n—FCP; 358 10
60 | 1302550004 n—-ZCP; 35L 4
61 | 065487000M Vb 35X1. 2 -
62 | 0590442006 FAAT T % 14
63 | NN16 FAarFy s M16 14
64 | 1301831004 NTDUT L 1
65 | 1301841004 NPT R 1
66 | ONCB T =A== C M6 4
67 | 130209000 | A 7TV PF208 26
68 | 130210000M 75 VCP ;1 14
69 | JCS307DDU 2zmy baURTYY7 CS307DDU 14
70 | BZ12030 ALb 8.8 M12X30 52
71 | BZ12040 AR 8.8 M12X40 4
72 | WSA12 NEYPHFX 327 M1 2 56
73 | 130211000M 75 VCP ;2 14
74 | JCS207LLU ooy hAURFTY LS CS207LLU 14
75 | DCO35 CHE N AV 7 35 14

— -




TSB0930 R O— LA~ RS O—S

f%f\ o
S \ N
4

7!
78 7

\ 60 é 67 @{%/ 70

51<@
52\\§
138971 | f—o
65-0048-1004 530
E B @ F R J B 4
REEE| o ' B 2o 4 B {855 i =
76 | BSZ10020 aFARE T M10X20 39
77 | BSZ10040 aFRZFNLE 7T M10X40 3
78 | WSAL0 ARPHx 34U M1 0 42
79 | AASO80 VEF S80 1
80 | AA0BO VEF 60 2
81 | AD06O 7y hUL7 60 2
82 | 076543100M H 5 2




TSB0O930

R O—LA—S

1391041

REE B A B B O A W {5k i
1 | 1456960004 =S5 8~CP ; 1 1
2 | 1456970004 = H I N—CP ; 2 1
3 | 1457010004 23 H~CP ; 3 1
4 | 1457030004 -5 HN—CP ; 4 1
5 | 1457050004 =7 H —CP ; 5 1
7 | 1355331004 =5 HNX—=CP ; 7 1
8 | BSZ08025 affARNLE 7T M8X25 20
9 | WRAOR 7P HE M8 20
10 | WSAO8 ANRPH R 32T M8 20
11 | 071747000M B — 20
12 | BZ12035 ALk 8 8 M12X35 6
13 | WSA12 AREYPHF 34y M1 2 6
14 | WRAL2 IR M1 2 6
22 | 066727100M (S 6
23 | 067032100M ALY T 6
24 | 042783600M Ty 12 6
25 | 000085200 | ~N—F L ; 8 X 1. 6 6




TSB0930 R O—IL_R—S PINNA T4 1

REE B E B & A W B 1H Gl
1 | 1457611004 2y K7 1L—ACP 1
2 | BSZ08025 affZRAMVE 7 M8X25 6
3 | NSZ08 afFEFy N 8 2V= MS 6
4 | WSAO8 NP 327 M8 6
5 | WRAO8 EIFHER M8 6
6 | 1457620004 Tha—FCP 1
7 | J6004LLU R—_F7Ur7 6004LLU 2
8 | DHCO42 CHERNAT T7F 42 2
9 | 132652100M = 1
10 | J6301LLU ~A7U»7 6301 LLU 2
11 | DHCO37 CH&ZNAD T 37 2
12 | 1457680000 v 7 b 1
13 | 0430651014 T N R A T e 2
14 | WRAL2 7R M1 2 2
15 | PC032016 JUEw 3. 2X16 2
25 | 1326540004 s 1
26 | 075290100M Tyl 10 4
27 | WSALO NERYPHE 327 M10O 4
28 | BSZ10030 oA 7 M10X30 4
29 | BSZ10025 afERrvE 7 M10X25 5
30 | NSZ10 afyxryhk 8 232 M10 5
31 | 132655000M NI 2
32 | 0934880000 Tt 16X25 2
33 | ONB6 TY—A=y L B M6 2

— g e



TSB0930 WA O— L A—S FYSINA T4 1
RHES B A B’ B WO A W B i %
34 | 059483000M HTZFFRNLE 8., 8 M8X25 1
35 | 044097200M Tviy ;8 1
36 | 055474000M HIZXFENME 8., 8 M8X20 3
37 | NSP08 aFEASY Ty R 4 M8 4
38 | 079160000M RA 2
39 | 0883040000 VA 16. 5X22X1. 0 6
40 | 1457700004 FA TFT—LCP 1
41 | 1457750004 AT 1
42 | 145776000M FA 7Pk 1
43 | BJ08030 PIFrv 7B 10. 9 M8X30 8
44 | NSZ08 aFFbvyh 8 2v= MS 8
45 | WSAO8 NREPHx 34y M8 8
53 | 145777000C A—FCP 1
54 | 044097200M Twi% ;8 4
55 | BSZ08025 affFZRVE 7T M8X25 2
56 | WSAOS SRFHTF 34y M8 4
57 | 1297910000 Uy vk 4
58 | CP06016 +hm Ry M6 X16 4
59 | CP06020 +FN_aRY M6X20 4
60 | NNFOB 750y h M6 8
61 | 135747000M n—CP; 2 1
62 | ONAG FTYm AT A M6 4
63 | BSZ08035 aBZRNE 7T M8X35 2
64 | 1366530000 NN 1
65 | BJ08016 HS5F¥ v B 10. 9 M8X16 5
66 | NNFO8 TS5V Ay N M8 5
67 | EH1382467591 | @m— K7 5.7 (8. 5—85) 3
68 | 145767000M R A 1
69 | PSO80030 ATV T 8X30 1
70 | 1457660002 DL DN 1
71 | 086877100M HT—; 20, 5X11 2
72 | 1458080004 ALY Lrems 1
73 | BSZ08035 aBERLs 7T M8X35 2
74 | 080414100M Twi¥ ;8 2
75 | WSAOS NRFHx 347 M8 2
76 | NSZ08 aJfEZFyh 8 2= MS 2
77 | 093503000M ATV T A 2
78 | BXI10060 AVE 10. 9 ¥ M10X60 2
79 | WRALO LIPS E M10 2
80 | NSZ10 aFLrFyh 8 2¥= M1O 4
81 | 093995000M ASY 7 H3, 2X28X96 4
82 | 080103100M A M8 4
83 | NSZ08 afEtbyh 8 2v= MS 8
84 | 145781000M n—JCP; 2 1




TSB0930 IR O— LR FININL T4 2

13912-2
065-0036-1023

BRSO B B I Bk i %
1 | 135727000M T —A5LCP 1
2 | PS060032W ATV T FTNay 6X32 1
3 | PS035032W AFY T 7"y 3. 5X32 1
4 | 135729100M AGAH—CP 1
5 | WRAL6 EIFFHR M1 6 1
6 | PC040025 Uy 4X25 1
7 | 144169100M LAA—=CP 1
8 | WRAL® eI M16 1
9 | PC040025 UL 4X25 1
10 | KBB-2025A H—Ry RFAXTYLT A 20X23X25 1
11 | 057788100M N 3
12| DCO20 CHE AT 7 20 1
13 | 802766000M ny RCP; 1 1
14 | WRAL6 eI R M1 6 2
15 | PCO40025 TUEY 4X25 1
16 | 0586401000 %S 1
17 | 0667243000 7Y S 1
18 | 000069200 vy ; B16X35 1
19 | PCO32025 UKy 3., 2X25 1
27 | 1349400000 ATY T 1
28 | 134941000M VA YA 1
29 | ONB6 TY—R=o v B M6 1




TSB0930 R E O~ L A PINNA T2
RIEE| B8 F & & A B (% 1 x
30 | PC0O40025 JUEY 4X25 1
31 | PS040025 ATV T 4X25 1
32 | 122668000 | N2 UL 1
33 | 122685000M A kw3 1
34 | BSZ08020 affZFELs T M8X20 2
35 | RBT08025 REB 10, 9 M8X25 1
36 | WRAOS EIWH R M8 1
37 | NSP08 A BATFY T b 4 M8 3
38 | BXI08035 AVE 10, 9 ¥ M8X35 1
39 | NSZ08 a7k 8 2v= MS 1
40 | 1395100004 ¥ 7 hCP 1
41 | J6904LLU RN X7 Y7 6904LLU 1
42 | AWO4 NTP LTIy AWO0 4 1
43 | JHF2520 JooxA75vF HFE2520 2
44 | J6905LLU R—A_F7 Y7 6905LLU 1
45 | DCO25 CHZ N NAD U 25 1
46 | 144210000M 75T —5hCP 1
47 | J6805LLU R—=_7 Y7 6805LLU 2
48 | 134619000 Tyl 25, 5X1. 0 1
49 | BL8D Yo oR—N BLHZ XA M8 1
50 | 130923000M 1y RCP 1
51 | NSZ08 afityh 8§ 2%a MS 2
52 | 000085200M | ~N—AFEL ; 8X1. 6 1
53 | ANO4 N_FY 7w b ANO 4 1
54 | 802768000M Ty RCP; 2 1
55 | NSZ10 affFFyh 8 232 M1O 1
56 | ONAG6 S —=2=w v A M6 1




TSB0930 R O— L A—S PN —S G T -

— \.—¢

aQ

% %((((Z(KK((K@@\

[ 13899-2

065-0048~1006

RINER| B & & & S N <N ) K i =
1| 065482200M Toiv ;12 1
2 | NNF12 TS5V A arty N M1 2 1
3 | NNF12 TS5 o0 A arty M M1 2 1
4 | 1389570004 757y hCP 1
5 | 067931100M Ty ;12 1
6 | NNF12 TS arty b M1 2 1
7 | KBB-2530A =Ry RTZA_TY 7 A 25X28X30 2
8 | 138961000M 2y KCP 1
9 | BZ12040 ALh 8. 8 M12X40 1
10 | NNF12 ZS5VF Aty b M1 2 1
11 | WRA12 eI R M1 2 1
12 | 135785000 (S 1
13 | 0926011006 AFY T A 1
14 | NNF12 TS5 VA ey b M1 2 1
15 | 099710000M H T 2
16 | 1389640004 755 v RCP ;R 1
17 | 1389660004 755y hCP; L 1
18 | BSZ08020 afZRLES 7T M8X20 2
19 | BSZ08025 affFRNs 7T M8X25 4
20 | WRAOS v IR M8 6
21 | NSZ08 afFry s 8 23z MS 2
22 | WSA08 NRFHFE 34y M8 6
23 | J6004LLU A7 Y7 6004LLU 2
24 | DHCO42 CHENAD T 42 4
25 | 065482200M Ty 12 2




TSB0930

WA O—LA_R—S

Fyblr—0 - J—F

[ 13899-2 | .

(065-0048-1G06

REES) B M B’ & & A (6% i
26 | NNF12 TGFARTy R M1 2 2
27 | 138968100M =% T —ALCP 1
28 | 067931100M Tyi/y ;12 1
29 | NNF12 75O farty N M1 2 1
30 | FH1382467591 | =~ K757 (8, 5—85) 1
31 | BSZ08020 aBBZRALE 7T M8X20 1
32 | WRAOS bR M8 1
33 | NSZ08 afFZFv bk 8 23a M8 1
34 | WSAO8 NRFHE 34y MS 1
35 | 8022801004 Ry 7 ACP 1
36 | 055474000M H7FFNLE 8. 8 M8X20 2
37 | BSZ08025 aFERALE T M8X25 4
38 | NSZ08 afgZFvyh 8§ 2v= MS8 6
39 | WSAOS NARYPHTR 327 M8 6
40 | WRAOS eI H R M8 4
41 | 135776000M | 234 1
42 | 000738000M UUFEy 6 2
43 | EH1382467591 | m— K7 57 (8. 5—85) 5




TSB0930 HEEHO—IL_R—S R LA THA
| 13900-1
065-0048-~1007
RES| B o & B - {B% i Z
1 1461881004 AV HZCP ; 1 1
5 | 1461890004 7 l—h 2
6 | BZ12035 Al 8. 8 M12X35 4
7 | WSAL2 NEPHE 3T M1 2 4
8 | NZ12 Tk 8 2v=m M12 4
9 | 0828111006 AFY 7 H 2
10 | 043341501M A AT 2
11 | NZ12 Jvh 8 2vVa MI12 4
14 | 079422000 TA—J TR 10X40 1
15 | 079423000M i 10X40 1
16 | NSZ10 afFZFvh 8 2¥= MI10 1
17 | 1462030004 F ¥ LRIV 1
18 | BSPZ08016 aFESWYHFRLE 7 M8X16 2
19 | 080414100M Ty¥¥ ;8 2
20 | KBB-2020A =Ry RGARTY LT A 20X28X20 1
21 | WRA14 EIYH R M1 4 1
22 | 146176000M F—A5C P 1
24 | 135240000M AFYrZHL., 8X16X145 1
25 | ONAG FTY—Az=w N A M8 1

_..15 —




TSB0930 MR O—ILR—S N—=JbATxHA
25
13900-1
085-0048-1007
AHEE 5 E’ F oM & W B 1
26 | WSAl4 REPHR 347 M1 4 1
31 | 146175000M 2y RCP 1
32 | 044098500M Tvi% ;10 1
33 | PC032020 U 3. 2X20 1
35 | 133089000M 55— 50. 5X28. 2 2
36 | NZ14 JFwhk 8 2va2 M14 1
37 | BSZ10025 S EARNLE 7T M10X25 1
38 | NSZ10 afEZryh 8 232 M10 1
39 | 1462060000 Sl Pav 1
40 | CPO4020 +hNaxry M4 X20 1
41 | WS04 NP Hx 247 M4 1
42 | NAO4 Fwvh 4 2= M4 1




TSB0930

MR O—LA—S

$17\—

[ 139012 |

065-0648-1 008

REES| 8 &’ & - A% i =
1 | 1361340003 =R X—~CP ; L/RE 1
2 | 1361520003 =R HAN—CP ; R/RE 1
3 | 1392470003 e KT /3—CP ; L 1
4 1392530003 =K~ CP ; R 1
5 | 1392560003 e hd3— L/ Lo 1
6 | 1392570003 = hH3~ 3 R/ Lo 1
7 | 1392580003 Jar b HNR—CP ;L 1
8 10009311000 | fUR#R; R—80C 1T (ST hM51t) 1
9 | 1392610003 Zwuy fhHA—-CP ;R 1
10 | 0009311000 R, R—80C 1T (S7Fv MM5AD 1
11 | 1392640003 7ualy b~ L,/ Lo 1
12 | 1392650003 Iy hhAA— R/ Lo 1
13 | 1392661003 a2 _F HA—-CP ;L 1
14 | 1392721003 gL HNN—-CP ;R 1
15 | 1392771003 2R HA—=CP ;L Lo 1
16 | 1392821003 2R HAA—=CP ; RL o 1
17 | 0006900000 =FY M8 X14 4
18 | WCR1HO8 VAVEAS S 4
19 | BSZ08016 AR 7T M8X16 20
20 | WSAOS N x 34y M8 20
21 | 0796583000 =XY 50 12
22 | WCR1HO8 WAZEAY 48
23 | WRAOS eI E M8 24
24 | PS040016 ATFY LT 4X16 12
25 | 1392850003 Fy bAA—CP ; L 1




TSB0930 MR O— )L R—5 F17 83—
RNES B E B & B %% 1 =
26 | 0006900000 =FU :M8X14 8
27 | 079659100M et 8
28 | 1392880003 A M/~ CP ; R 1
29 | 1458100004 ATF—CP 1
30 | 1318840000 7%y b 4
31 | CPQO3010 SWYHF+F~Noaxy M3X10 8
32 | NAO3 Fv bk 4 2= M3 8
33 | 1364050004 AT 2
34 | BSZ08020 aBEZRAVE 7T M8X20 2
35 | BSZ08025 affARVE 7 M8X25 2
36 | WSAO8 NPT 34y M8 6
37 | NSZ08 aBZFvh 8 2= MS8 6
38 | 076510000 Fa Ny A& 6
39 | 1458130003 X Rlrs— 1 1
40 | 1363260003 o RlpsR— 2 1
41 | BSZ08016 AR 7T M8X16 24
42 | WSA08 NERPH* 34y M8 24
43 | NSZ08 affB2ryk 8 2¥= M8 12
44 | 1458140000 H 73— 1
45 | 1458150003 TN CP 1
46 | CP08016 +F_axy M8 X16 6
47 | WSAO8 ANRYPHE 377 M8 6
48 | 1458160003 N A CP 1
49 | BSZ08020 afFERVE 7T M8X20 7
50 | WSAOS NREFHFX 3IT M8 7
51 | 1393010003 T =X~ CP 1
52 | BJ08016 YI%yy B 10. 9 M8X16 4
53 | 091264000M HTZ—3 9. 2X23. 5 2
54 | 0009301000 ot R—150TR (S7Hw FMBf 2
55 | 8026030004 FL— |k 1
56 | 8026040000 EUN AN 1
57 | WRAOS EZFHR M8 4
58 | WSAO8 NRPHR 3Ty MS 4
59 | BSZ08020 aHFERNVE 7T M8X20 4
60 | BSZ08040 aff ARV 7 M8X40 2




TSB0930 HFEO—ILR—S IR Rk

18é2£:/25 s
19&%%;@%7
1

13

By, I
1a9/i%z%b 7
W B

3 f%

139111

085-0048-1076

RiES| B R E 5 ¥ A B B 1
1 | 1356710000 V¥ 7k Ay bR 1
2 | JPF205G NATFY v PE205 4
3 | JCS205LLU Doy hauR7TYry CS205LLU 2
4 | BSZ08025 aFERLE T M8X25 6
5 | NSZ08 afFryh 8 2= MS8 6
6 | WSAOS NEYPIHR 3Ty M8 6
7 | KFB08070350 | ~A 27— DA</ 8XT7X35 1
8 | KFD08070200 | ~Af ¥ — UawbT 8X7X20 1
9 | 0951061000 A 256, 5X0. 2 -
10 | 096757000M VA 25, 5X0. 6 -
11 | 1856720004 AFlry b 60X20 1
12 | 0590442006 FARAT Ty 1
13 | NN16 AR Fy b M1 6 1
14 | 135673000M HT—; 25, 5X138 1
15 | 1457160004 V=Y ;77 —A—1 1
16 | 0590442006 FAAT Ty 1
17 | NN16 FARFy N M1 6 1
18 | 1356770000 FL—k 1
19 | CP06020 +FN_aRrY M6X20 2
20 | NZ06 Jvh 8 2¥= M6 2
21 | WS06 NERFHR 227 M6 2
22 | WRAOG IR M6 2
23 | 135678000M % 1
24 | BSZ10020 afERVE 7T M10X20 2
25 | WSA10 SNRPFHAX 3Fy M10 2




TSB0930 R O — )L A— B vk
RINER| 8 R B I - %k 15 el
26 | 044098500M Twvivy ;10 2
27 | BXI10070 ALk 10. 9 ¥ M10X70 1
28 | NSZ10 afFZFvyh 8 2= M10 1
29 | 145717000M | ~YL " HR—CP ; 7 1
30 | BSZ08016 affZRNE 7T M8X16 2
31 | WSAO8 NEPHR 3d7 M8 2
32 | 080414100M Twiv ;8 2
33 | 145720000 | —VU ; A—8 3 1
34 | 0744920004 H T 1
35 | PS080045 AFY T 8X45 1
36 | BSZ10030 afFFRVE 7T M10X30 1
37 | NSz10 aiFtfyh 8 2¥= MI10 1
38 | 135684000 | 725> CP 1
39 | KBB-2025A H—=R RIGART YT A 20X23X25 | 1
40 | WRA20 eI¥FEHR M20 1
41 | DCO20 CHEZNAT P27 20 1
42 | 000034100M | KRBT v g Y 1
43 1 DCO12 CHERAD V7 12 1
44 | 135687000M | ~_—ZCP 1
45 | NNF06 754ty b M6 1
46 | BXI08050 Ak 10, 9 ¥y M8X50 1
47 | NSZ08 affFZFy b 8 2= MS 2
48 | BSZ08020 aFHERVE 7T M8X20 2
49 | WSAO8 NERPHE - 8327 M8 2
50 | 080414100M Twix; 8 2
51 | 135690000M iy FCP 1
52 | BZ06035 ALk 8. 8 M6X35 1
53 | NNFO6 75U A ey N M6 1
54 | 135304000 FL— |k 1
55 | BSZ08045 affZBA b 7 M8X45 1
56 | NNFOS 75V ur Tty M M8 1
57 | 135692000 B 1
58 | 056784200 AFYrT7  H 1
59 | NNF12 TP F A a by b M1 2 1
60 | NZ12 Fvh 8 2¥2 M12 2
61 | BZ06016 AL 8.8 M6X16 1
62 | WS06 NEYPHR 247 M6 1
63 | 028833200M Tw¥ ;6 1
64 | 802614000 |~V FRA RwCP 2
65 | BSZ08016 af AR 7T M8X16 1
66 | WSAO8 RRPHR 347 MS 1
67 | 080414100M Twivy ;8 1
68 | VLAOS4 VL h LA—54 1




TSBO9

30

i O—)LR—S

o M2 AR

139024

RHES B E W a4 B (B i &
1 1391230004 a2 NFT 7 L—ALCP L 1
2 | 8026170004 AL _NF 7L —ACP 3 R 1
3 1389780004 Fwvary7Iry by L 1
4 | 1389790004 FrivaryTIry by R 1
5 | BSZ08020 afZRR 7T M8X20 14
6 | WSAOS NRPHTR 37 MS 14
7 | NSZ08 afFZryh 8 2va M8 14
8 | 1389800004 0— 3 74 R 1
9 | 1353470002 Ty 7 b 1
10 | J6306LLU R—=N_X7Y 7 6306LLU 2
11 | DHCOT2 CHH R NAT FTF 72 2
12 | 1353480004 2L A7 L—sXC P 1
13 | NSZ08 a8 2= MS 4
14 | 138984000M | 7 v v g BN RCP 2
15 | NZ12 Fvbh 8 2¥a2 MI12 4
16 | 1454910000 S T B 1
17 | 1353680004 aRF I L—ACP ;1 2
18 | 1353700004 AR F T L—ACP 2 1
19 | BSZ08025 af ARV 7T M8X25 12
20 | 080414100M Ty 8 12
21 | WSA08 SNRYH R 327 M8 12
22 | BSZ08020 aHFERNLE 7T M8X20 4
23 | WSAOS NEPFHR 3T MS 4
24 | NSZ08 afjEty b 8 23m M8 2
25 | 139141000M S~k ; L 1




TSB0930 MR O—)LA—S5 AT
RHES B e F B L ik i el
26 | 139142000M Zi—}F; R 1
27 | 1391430000 AT L— b 2
28 | 139046000M S L— h 2
29 | CP08025 +pRmryY M8X25 20
30 | CP08016 +_Raxry M8X16 20
31 | NSZ08 affFbyh 8 2= MS 40
32 | WSAOS NPT x 347 M8 40
33 | 8022900003 ST g e 1
41 | EH1382467591 | =— K7 5.7 (8., 5—85) 2
42 | BSZ08025 AR T M8X25 8
43 | WSAO8 NP x 327 M8 8
44 | 080414100M Twix ;8 8
45 | 1397850004 /N 2
46 | BSZ08020 afFHZFRNVE 7T M8X20 2
47 | WRAOS L7 R M8 10
48 | WSAO8 NRYPHR 34y M8 2
49 | NSZ08 afZryh 8 2v= M8 2
50 | 1441360004 AF—C P 1
52 | 1391340000 RS A7 1a—5CP 1
53 | JUCFC207DGB | NP Y Ja=y s UCFC207DGB 2
54 | 1391400004 FL—h 2
55 | BZ12040 Ak 8. 8 M12X40 8
56 | BZ12030 AVhk 8. 8 M12X30 4
57 | WSA12 ASNRPFEFHR AT M1 2 12
58 | BZ12045 ALk 8. 8 M12X45 8
59 | WSA12 ARPEHF 3d7 M1 2 8
60 | 8025970004 HT—1 35, 7TX50 1
61 | 030619101M Uiy ; 17X6 1
62 | NN16 FAuarFyh M16 1




TSB0930 M O—)LA—S Zinri=ay 4
14122-1
REE B R’ L - ) {E% i #
1 | 144138000M Fp LRIV | T e A 1
2 | BZ12020 AV 8.8 M12X20 4
3 | WSAL2 NPT xR 3Fy M1 2 4
4 | 132817000M ASayrvh; 50—15T 1
5 | 093399000M BTy 25, 5X12 1
6 | 064523000 T 1
7 | 123058000M Dw/¥ ; 8, 5X3. 2 1
8 | BSZ08020 AR 7T M8X20 1
9 | WSAO8 AxRPHx 397y M8 1
10 | 092740000M HT—;30. 5X17 1
11 | 8025900004 Al b 50—45T 1
12| 030619101M Ty, 17TX6 1
13 | NN16 FAFy b M16 1
14 | 0967561000 A 30, BXO0. 6 -
15 | 0599861000 N -
16 | 081267000M Fyigrun—3CP 1
17 | 042783600M Tyiy ;12 1
18 | WSA12 NEYPH R 3dT7 M1 2 1
19 | BZ12050 Ak 8.8 M12X50 1
20 | 082660000M BT 1
21 | 080925000 Jw b 1
22 | LAB008S —5Fc—r BOX85L 1
23 | AA050 VET 50 1
24 | ADO50 A7y NPT 50 1
25 | KFBO8070250 | ~A am¥— HH<w/ 8XT7TX25 1




TSB0930

MR O— L R—S

d—H - YR F—H

@%gt/ 5

14123-1

RHES| B 5 E 5 B A {EL 1 %
1| 1441420004 A—HCP 1
2 | JUCFL206DGB | ~7 UV 2=y UCFL206DGB 2
3 | 041264500M WS 1
4 | NNF12 T arry b M1 2 1
5 | 1441520008 A—HT 55 hCP; L 1
6 1441530003 F—=HTZr> FCP ; R 1
7 | BZ14040 ALk 8. 8 M14X40 4
8 | WSAl4 NEPHAR 347 M1 4 4
9 | BSZ10035 S HEZRAN 7T M10O0X35 4
10 | BSZ08025 AFEZRAE T M8X25 4
11 | WSAL0 NEWHx 347 M10 4
12 | 075290100 Tvivy ;10 4
13 | NSZ10 afZFyh 8 2¥a M10 4
14 | BSZ08030 aHERLR T M8X30 1
15 | BSZ08025 aBBERVE 7T M8X25 9
16 | WSAO8 ANRYPH xR 3Ty M8 14
17 | WRAOS TR M8 14
18 | NSZ08 afyryh 8 2= MS 14
19 | 1441580004 =1 ;200-B—2N 1
20 | KFD10080360 | ~A =2 d— UJaorF 10X8X36 1
21 | 1441590004 HT—;,36X24 1
22 | 030619101M Tyivy ; 17X6 1
23 | NN16 FAuarFy b M16 1
24 | 0896370000 b 365, BXO0. 1 -
25 | 0896380000 VA 35, 5X0. 2 -




TSB0930 W O—LR—5

41231 |

RUER| B W & B MmoOoMm AW (B fii %
26 | VLBO76 Vekh LB-76 FLuwy 2
27 | 1441620004 =1 155—B—2 1
28 | KFD0B070400 |~A 2T Fx— UgybT 8XT7X40 1
29 | 129709000M HT—; 30, 5X8 1
30 | 067931100M Tyi¥ ;12 1
31 | NNF12 TH5 VA arty b M1 2 1
32 | 144160000M Foia T —ALCP 1
33 | 70B-2512 FIA4 Ay h Ty 25X28X15 2
34 | ONB6 TY—=2z=w 7V B M6 1
35 | 067931100M Tyvy ;12 1
36 | NNF12 75 A arFy b M1 2 1
37 | 1353110004 | Fr v g1 1
38 | DCOL7 CHi#b AT U7 17 1
39 | 115687100 |F v i gy RCP 1
40 | 119888000M ATV T A $4X23XT5 1
41 | 025266000M EER S I i v B S 1
42 | WRAI2 LR M1 2 1
43 | NZ12 Fyh 8 2¥=2 M12 2
44 | 000048200M ¥y :B8X35 1
45 | 044097200M Twiv ;8 1
46 | PC032016 Yy 3. 2X16 1
47 | 071884000M Ty 2
48 | 077240000M N 4




TSBO9

30

R O—ILR—5

EVZAS

055-0048-1012

MBS B A’ B s A B B i il
1 | 1441630003 BRwsSy L 1
2 | 1441640003 Rws R 1
3 | 080414100M Ty ; 8 8
4 | BSZ08025 affZRLE 7T M8X25 4
5 | WSAOS SNRPFH R 3Ady MS 4
6 | NSZ08 affZfbyh 8 2v=2 MS 4
7 | 1390850003 ARyXCP ; ¥A RU 1
8 | BSZ08020 S ERLE 7T M8X20 5
9 | BSZ08025 afFERNLE T M8X25 1
10 | 080414100M Ty ;8 7
11 | WSAO8 NEYPFHR 327 MS 6
12 | NSZ08 afZry b 8 2v= MS 6
13 | 1390930003 Ry NCP F 1
14 | BSZ08025 affERVE 7T M8X25 2
15 | BSZ08030 affERVS 7T M8X30 4
16 | 080414100M Ty ;8 6
17 | WRAOS TR M8 2
18 | WSAO8 RERYPH R 347 MS 6
19 | NSZ08 af&ryh 8 232 MS 6
20 | 8026160003 BN RE 1
21 | BSZ08020 afFERNVN 7T M8X20 3
22 | WSAO8 NRPFHR 3Ty MS 3
23 | WRAO8 eI M8 3
24 | 080414100M Tyiy ;8 12
25 | BSZ08025 aFEBNE 7T M8X25 6




TSB0930

W O—ILA—S

065-0048-1012

38 32 31

)

AN\
&ﬁi\i\b%

RHES| B &% & & W 4 B {i
26 | WSAO8 NRPFHHR 327 MS 6
27 | NSZ08 afzFyh 8 2¥= MS 6
28 | 1390970004 Py RCP 1 | AT va v
29 | 1391000004 Yy CP; U 1 | AP vsw
30 | BSZ08025 afARLE 7T M8X25 4 | A Fvar
31 | 080414100M Twiy ;8 3 [ ASvar
32 | WSA08 SNRPFHR 32T M8 4 | A Fvg
33 | NSZ08 afFEFyh 8 2v= M8 3 | ASvar
34 | WRAOS EI7PFEHR M8 4 |\ ATva
35 | BSZ08020 afFEZrvk 7 M8X20 6 | ASar
36 | WRAOS IR M8 12 | AFva v
37 | WSAO8 NREPHTR 347 M8 6 | AT
38 | NSZ08 aff gty k 8 2¥a MS 6 | Ay
39 | 8022910003 Ry X7 L—ALCP ; R 1
40 | BSZ08020 afFEZRNVE 7 M8X20 12
41 | WSAO8 NRERYHx 32y M8 12
42 | NSZ08 affEry ks 8 2= MS 12
43 | 1391060003 Ry_R7 L—ACP ; L 1
44 | 1391110003 ByRXTL—ACP; F 1
45 | 139112000M A A 1
46 | BSZ08025 S ZRNE 7T M8X25 2
47 | WSAO8 NERYPH X 3Ty M8 2
48 | BSZ08020 af 2R 7T M8X20 3
49 | WSAO8 ANRFHx 3dy M8 3
50 | NSZ08 affZFyh 8§ 2va MS 3




TSB0930 HmEO—ILA—S Ay

13905-3
6500451612

RHES #H &5 & & N (B & %
51 | WRAOS v IHEHE M8 3
52 | BSZ08020 afFEZRNLE 7T M8X20 8
53 | WSAO8 ANRFH R 3d M8 8
54 | WRAOS eI E M8 8
55 | 139113000 | /34 FCP 1
56 | BSZ08025 affZRNVE 7T M8X25 1
57 | WRAO8 IR M8 1
58 | WSAO8 NRRPFHR 397 M8 1
59 | 080414100M Twiy; 8 1
60 | NSZ08 afZrv bk 8 2v= MS8 1
61 | 071615200M A— AT A 1
62 | WRAOS TR M8 1
63 | PC032016 Uy 3. 2X16 1
64 | 139116000M BILECP 1
65 | BSZ08020 aBFERLE T M8X20 2
66 | 080414100M Toiv ;8 4
67 | WSAO8 NERYPH X 347 M8 2
68 | NSZ08 affFZFyh 8 2¥a M8 4
69 | 1390790000 dha— 2
70 | EH1382467591 | =— K7 7 (8. 5—85) 8
71 | 1441650003 Fy LI AN 1
72 | BSZ08025 afERLE 7T M8X25 6
73 | WSAO8 NERPHFX 347 M8 6
74 | NSZ08 abirbyh 8 23 MS 6
75 | WRAOS I r M8 12




TSB0930

R O—LR—S

o
L34
2855 %%1;33
22—8 20
sses | , 5 b
D & 35
C B M
RES B A B’ N {5 i &
1 131220000M R F_R—=AC P 1
2 | BSZ08020 aFEFENLN 7T M8X20 2
3 | WSAO8 NRFHR 3Ay M8 2
4 | 0993650000 EANAANR T 1
5 | BP06016 SWYHHRLF 4. 6 M6X16 3
6 | 131223000M F—5LCP 1
7 | 099385100M =% 1
8 | WRAOS eI X M5B 1
9 | PCO20016 JUEY 2X16 1
10| 0993660000 YT FANH Y 1
11 | 099386100M 75y hCP 1
12 | BSZ08020 S FANVE T M8X20 2
13 | WSA08 NEPHFR 3Ty M8 2
14 | 1363060000 Fu—T7 71300 1
15 | 1003751000 AR R 1
16 | BZ06025 Ak 8. 8 MBX25 2
17 | WS06 NEZPH R 207 M6 2
18 | 1363130000 Fo—7:1200 1
19 | 1363080000 Fa—7 650 1
20 | 144258000M XTIy b1 1
21 | BSZ08020 SaHFERAVE 7T M8X20 1
22 | NSZ08 aliFbyh 8 2¥a MS 1
23 | WSAO8 NERPHE 3T M8 1
24 | 1363100000 Fa—T; 450 2
25 | 139041000M Foa Ty b3 1




TSB0930 M O—ILR—S5 Farha
RIER| & W & 5 WM AW K 1H &
26 | BSZ08020 aBFEFRLE 7T M8X20 1
27 | WSAO8 AR 34y M8 1
28 | 1363130000 Fa—731200 1
29 | 131233000M XTIy ;2 1
30 | BSZ08025 affERLs 7 M8X25 1
31 | WSAO8 NAPH R 347 M8 1
32 | 0993870000 A A 4
33 | 099388000M Flo— |k 4
34 | BZ06016 ALl 8. 8 MBX16 4
35 | NPO6 ATV Ty b M6 4
36 | ILT150 Avvany &4 3. 5X152 9
37 | 1038750000 3Ry AN 2
38 | 1089730000 Prig A RL—F 1
39 | 1089741000 R—ATHETH  PT1,/8 1
40 | 0887210000 AR GNF 2T 2
41 | WRAIZ eI HA M1 2 1
42 | PC0O32020 JUEY 3. 2X20 1
43 | 139493000M L 1
44 | BSZ08020 aBFERALS 7T M8X20 2
45 | 044097200M Tyi¥ ;8 2
46 | WSA08 ARPH xR 327 M8 2
47 | 144255000M F—5LCP 1
48 | WRAL6 eI R M1 6 1
49 | PC040025 Yy 4X25 1
50 | 080414100M Ty % 8 1
51 | NNFO8 750 A arFy N M8 1




TSB0930 fﬁﬂi[ﬂfﬂﬂ—-—}b/\‘——"ﬁ /frj_[ {\:}/7-...»3‘}

HEAT 5 I

1

AMiER B o F B - I T % i el

=

1 1342021000 IR =yl 1

4 | 0922360004 AZwalry ;12T 1
5 | LA40084 B—FFx—2; 40X84L 1
6 | 8022440003 F o= HA—C P 1
7 | 802247000M VAN % 1
8 | 110579000M Ty R |k 1
9 | BSZ10020 aFZRALE 7 M10OX20 1
10 | WSA10 NREFHFE 32y M10O 1
11 | BSZ08020 afEZHENLE T M8X20 10
12 | WSAO8 NEPFHA 327 MS 10
13 | 080414100M Tyiy ;8 8




TSB0930

R O — L R—S

eV

]ggm
AER B e B F L T {EIE T &

1 | 1356690006 YL H  CWP4ABX360X540 2
2 1458090000 F LRy 1
3 | 802653000M | X—ZCP 1
4 | BSZ08016 affZFENLE 7 M8X16 2
5 | WSAO8 NEPHR 327 M8 2
6 | BSZ08110 afEZRNLE 7 M8X110 2
7 | WSAO8 ASEYPHF 347 M8 2
8 | 1033-04 A—AT )R PF1/4XPT1,/4 4
9 | KHO401600BP | =7 WaHk—2 1,/4X1600 S1—4 1
10 | KHO401250DP | =7 Wah—A 1,/4X1250 S901—4 1
11 | KHO403250BP | =7 Wik—RA 1,/4X3250 S1—4 1
12 | KHO402900DP | =7 Ydh—2A 1,/4X2900 S901—4 1
13 | 1068-04 PF7wyrs PF1,/4XPT1,/4 2
14 | 2086-04 AR PT1,/4 2
15 | 0009280000 ARy TANT 1,/ 4 1
16 | 2083-04 =w) PT1,/4 1
17 | 2091-04 54— PT1,/4 2
18 | 1437050006 ST VE—HR 80 1
19 | BZ12040 AVl 8., 8 M12X40 2
20 | WSA12 ARYPIH R 34y M1 2 2
21 | NZ12 Fvh 8 2i=m M12 2
22 | 2081-08-04 Ty PT1/2XPT1,/4 2
23 | 1035-04 R—R2x R4 5 PF1/4XPT1,/4 2
24 | KHO402900EP | 27 Wik—A 1,/4X2900 S902—4 2
25 | KHO602400BE | =7 Wik~—2A 3,/8X 2400 S1—S902 1




TSB0930

N O—)LR—S5

a7y

14124
AES B m E F B s A B (B T %
26 | KHOBO2500FF | =7 a—2 3,/8X 2500 S902—S451 1
27 | 2086-06-04 xR PT3/8XPT1,/4 1
28 | 2083-06-04 =y PT3/8XPT1,/4 1
29 | 2088-06 AAF AR PT3,/8 2
30 | 2096-06 Vv h PT3/8 2
31 | 114388000M T4 NH 1
32 | 135791000M B—=RAT 57y ;1 2
33 | BSZ08020 afJEARNLE 7 M8X20 2
34 | WSAO8 ANRPH X 3T M8 2
35 | 139038000M R—RA W A 1
36 | BSZ08016 S ZRLE T M8X186 1
37 | WSAO8 SRR HR 327 M8 1
38 | 0887210000 ANRA G5 NF =T 8
39 | ILT380 Aoyl HA 7. 5X382 10
40 | SPAN-20-5H VSR AA S 1




TSB0930

MR O— L AR—5

FIoEy

BATHE

89,90
1-jo1s2 W
83,94
L

8

a /‘24
NN

45 ~ Q@
kS J%?@a
50
"o M
066-0048+1015
REEES H A B/ & oMo s & B B8 i %

1 | 1444560000 VP Ry 7 ZACP 1 | ® 89~94, 961
2 | 1456100000 2~ RCP 1 | ® 85, 88, T34t
3| 1345440000 2—F; 3500 1 | ® 844
4 | 1420690000 | BAFa Ry 7 ACP 1
5 | 802259000M R 7 A=A 1
6 | CPO4012 +FhR_ary M4X12 4
7 | NPO4 ALY Ty b M4 4
8 | 0006900000 =Ry  M8X14 1
10 | 1255600000 oY RA T 1
11 | BXI12050 ALVE 10. 9 P M12X50 1
12 | NZ12 Fwvh 8 2%a M12
35 | 0907751000 FroRyVYE CP 1
36 | 1255600000 XY AL T 1
37 | 145807000M | Bl He—2 1 3 1
42 | 0823530000 TRy A 1
43 | 139030000M 1y NCP 1
44 | PC032016 JYEy 3. 2X16 2
45 | WRAOS LI x M8 2
46 | 1122090000 7 K&t 1




TSB0930

W O—)LA—5

39,90
1-191,92
93,94
o 9

N

Bﬁ 585
88 )@
3 <*9’\

EITHR
=
N 2N
o _gq
74

73

HES | B & - - (%L i =z
47 | CP04016 +FRaRY M4X16 2
48 | WRAO4 eI HR M4 2
49 | NPO4 ASY Ty b M4 2
50 | 119540000M LA—-C P 1
51 | CP04012 +FRaRrY M4 X12 1
52 | NAO4 Fwvh 4 2v= M4 1
53 | 111955100M 757y RCP 1
54 | 0774093000 Ty ia 2
55 | WRALG v R M16 3
56 | DE012 EXZFAT 12 1
57 | 1119720004 H 73— 1
58 | BSPZ08016 A SWYEFHRLE 7 M8X16 1
59 | 135803000M B2 4 1
60 | 055474000M HTZFFALE 8., 8 M8X20 2
61 | EH1382467591 | =—RJ 57 (8. 8—85) 1
62 | NSPO8 aff gAY Ty b 4 MS 2
63 | BSZ08025 affZRALE 7T M8X25 2
64 | NSPO8 affFATY 7w b 4 MS 2
66 | WRAOS eI FHR M8 2
67 | 1363570003 75w b L 1
68 | 1363580003 755w b R 1
69 | BSZ08020 af RN 7T M8X20 4
70 | NSPO8 afBATY T v 4 M8 4




TSB0930 R O—)LA—S T )bEw
72 | 1125520000 V%57 ; 3F 2
73 | 1364000000 @—R;10000%X4100 1
74 | 1125540000 THR—=LE 12V 1
75 | NPO5 ATV Ty b M5B 4
76 | 1315090000 A 1
77 | BZ06012 Ak 8. 8 MBX12 2
78 | 1172730000 Fa T N—FRACP 1 | FFvgr
79 | NPO6 ASY T Fw b M6 2
80 | ILT200 AV EA 4, TX202 10
83 | 0887210000 ANA G NF T 10
84 | FU30 bt o—2Z (30A) 1
85 | 8022550000 TrFagya—K;, CN2PX6500 1
88 | 1362870000 =R VY Ry T A 1
89 | FU1 ta—2x (1A) 1
90 | 1318410000 =N A 2
91 | YB-15WCKS1 F o AL v F 1
92 | YB-CLCM Vo 1
93 | AT-628-M Ny Ay Y 1
94 | 1365910000 oI, I RY 3
96 | 1330610000 Ve 3 1
100 | 8022560000 EFg go— R R 1
102 | 1301790000 FVaL R 1
103 | 1439840000 TGV Ve sFCP 1
104 | CP03012 +F IRy M3 X12 4
105 | WRAO3 LI ER M3 4
106 | WS03 NEFITR 227 M3 4
107 | NAO3 Jwvh 4 2va M3 4
108 | 1398440000 HAT o PD XA 1
109 | 802287000M NETA ft— R 1
110 | BSZ08020 aFZENE 7T M8X20 2
111 | EH1382467591 | =— K7 57 (8. 5—85) 1
112 | WRAOS bR M8 2
114 | NSPO8 AFFRSY Ty N 4 M8 2
115 | IRF250 JE—h&A 7. 4X250 2
116 | 8022880001 AV I 1
117 | BSZ08016 aBfERNE 7T M8X16 2
120 | NSPO8 aFFATSY T Fy N 4 M8 2
121 | 1035490000 gty k25 1
122 | 0937320000 DX 1
123 | 0937330000 oA e SRy b 1
124 | 1206260000 Fl— | 1

....36 —




TSB0930 R O— )R- TN

80,90 EATHAM
-

w B F o

51 49

13908-4
065+0048=1015
RUEE B B E T 2 PR e 1 =z
125 | CP04016 +FRaRry M4X16 4
126 | NPO4 ATy b M4 4
130 | 130181000M 7 L— h 1
131 | 1182500000 <Ry |k 2

132 | 079659100M 5 8




TSB0930

R L R—S

13909-1 |

065-0048-1016

el B T e e [ S - A < A\ eSS i el
1] 0008600000 [DHZ F—hSL—h 1
2 0889780000 F0 3 500~-540r pm 1
3 1237990000 UL 900 2
4 1237630000 | 51 ; A FFAF280L 1
5 1237640000 | 5-~r; ALTA47280R 1
6 1339790000 | STAR—Z L ; 6 3 2
7 1339780000 | STAR®—Z7 5L ; 40 1
8 1339080000 STARZ—Z75~)l; 63 (VR Y¥) 1
10 1061710000 YL a8 2
11 ] 1061720000 | I~ : Ay 9 2
12 |1064190000 | F~L; {2y 38 1
13 1064170000 TV Ay 36 1
14 1064850000 | F-~9v; A ay 71 2
15 1064890000 VAR B =T/ 2
16 | 1065190000 | I~ ;¥ Af=2y 105 2
17 1065370000 Gy A2y 123 1
19 |1065870000 | F~YL; & Afay 173 3
20 | 1065880000 | 5-Ub; AAar 174 2
21 | 1364080000 | Tl ; v b 1
22 | 1385910000 | Sl ; Fo A 1
24 | 0353640000 | ~—7 ; YT 2










|

S—091228C

EEEEM

WL PR

HREREESERR

TEEE R

il & = K

N B PR

R8-S0

R A B PR

# = E R

066~8555

066-8555

098-4100

080-2462

086-1152

028-3172

983-0013

323-0158

700-0973

861-8030

885-1202

T REH LEMLIOS 1 & M2
TELO123-26~1123
FAXOT123-26-24182

T miF EE® IO 1 FH 2
TELO123-22-5131
FAXO123-26-2038%

KIEHBENE Yo Y1191 544
TELO162-82-1932

FAXD 182821688

WM 22 &4l VH12%FMH 4
TELO155~-37-3080
FAXO1855-37-5187

ST R BN AT 2 T H 16 % 2
TELO153-72-2624
FAXO153-73~-2840

EFRACE TR ST LSS 1 1S 120453
TELO198-46-1311
FAX(D188-45-5898

TELO2R-388-8673
FAXO22-388-8735

s A B Al m R 251 2 -1
TEL0285-49-1500
FAX(285%-48-1560

MU E ML THH704-103
TELOBB-243-1147
FAXO86-243~1268
REARBEBAFALELE3 91
TEL 096-389-8650
FAXO8E6-388-8710
BRSBTS 1003 -2
TELOSB6-53-2222
FAXQO86-B3~2233

w. 21.



